201681 A = A A AA

(&9 = 2)
3=
of AF 4 of| A& o 2549 eV =
T | F =

1.01 859 391,618,000 391,618,000 391,472,540
1. AR A o] [ 13,347,000 13,347,000 13,347,000
1.HH Aol A+ 13,347,000 13,347,000 13,347,000
171 ZA A GA DD = 13,347,000 13,347,000 13,347,000

sungtgedardnzs = 13,347,000
2. W51 5 3] A o] [ 4=5] 378,270,000 378,270,000 378,125,250
LaSH S AAG =TT 378,270,000 378,270,000 378,125,250
1.8t w8 Al g = 378,270,000 378,270,000 378,125,250

S Fu A Y= = 208,196,000

EAAGR A Y= = 169,929,250
3.7]Efo] M 4= 1,000 1,000 290
1.8t 3| Al Zkol A 1,000 1,000 290
1.8 A7 F A4+ 1,000 1,000 290

Sudbd 7| 51T = 290
2. AHA ) 85,720,000 85,720,000 85,717,750
1.3 gy 84,624,000 84,624,000 84,621,770
1.4l AR g2 9] 84,624,000 84,624,000 84,621,770
1,929 17,231,000 17,231,000 17,229,670

A9 17,229,670
2. 358k & | 48,290,000 48,290,000 48,290,000

i SRR S 48,290,000
3.7 A 19,103,000 19,103,000 19,102,100

] 4 H] 19,102,100
2. YL EFY 1,096,000 1,096,000 1,095,980
1.7/t &55Y 1,096,000 1,096,000 1,095,980
Lol 909,000 909,000 909, 080

o] A} 4= 9] 909,080
2,718 4 & 187,000 187,000 186,900
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201681 A = A A AA

(&9 = 2)
3=
of AF 4 of| A& o 2549 eV =
T | F =
et L5 = 186,900
3. 714 13,130,000 73,072,000 73,073,310
1L.AdEo| g7 13,130,000 73,072,000 73,073,310
LeAAD o= 13,130,000 13,130,000 13,131,310
1.eAAY A F 13,130,000 13,130,000 13,131,310
TAALAF = 13,131,310
2019 0 59,942,000 59,942,000
1.0 2AL | 0 59,942,000 59,942,000
o] AL 1) = 59,942,000
Al & Al 490,468,000 550,410,000 550,263,600
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